Year 6 Extension Arithmetic Test 2 teStbase

494,009 + 10,000 + 10,000 =
1 mark
I)
09=—
100
1 mark
567,621 + 7,091 =
1 mark
7,082 x9=
1 mark
500,679
— 299,735
1 mark
? + 30,500 = 80,400
1 mark
7,643 +9 =
1 mark
3,600 +4 =
1 mark
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-8-5=

1 mark
36+22x4=

1 mark
60 x 90 - 80 =

1 mark
48,000 + 80 =

1 mark

91.37

X 6

1 mark
94.37 + 8.184 =

1 mark
99,999 + 50 =

1 mark
30 x 110 =

1 mark
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3P +2°+5%=
1 mark
840,000 - 48,000 =
1 mark
60 x 900 =
1 mark
300.01 x 1000 =
1 mark
34.6 +100 =
1 mark
523.56 — 45.056 =
1 mark
957
x 86
2 marks
?
34% = —
50
1 mark
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100-26+2+8=

1 mark
76% of 60 =

1 mark
76.2+5=

1 mark
04 x11=

1 mark
5 7
— 4 — =
6 12

1 mark

2,971

X 38

2 marks
§><12 =
8

1 mark
42&5675 =

2 marks
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3 4
D
5 5

1 mark
[
6

1 mark
3_3_
4 10

1 mark
2—x3=

1 mark
35 41

6
1 mark
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